
RefPart No Description Price (Each)
 



Req
Qty

Qty / Add to
Cart

1 PFKL1206686RADIATOR COVER.LH £ 51.94

(€ 56.10)

1 1

AddAdd ››

1 PFKL2303697RAD COVER, LH, PAINTED
BLACK

£ 51.94

(€ 56.10)

1 1

AddAdd ››

1 PFKL1206692SPARES KIT.RAD
COVER.LH

£ 57.24

(€ 61.82)

1 1

AddAdd ››

2 PFKL1206687RADIATOR COVER.RH £ 51.94

(€ 56.10)

1 1

AddAdd ››

2 PFKL2303698RAD COVER, RH, PAINTED
BLACK

£ 51.94

(€ 56.10)

1 1

AddAdd ››

2 PFKL1206693SPARES KIT.RAD
COVER.RH

£ 57.24

(€ 61.82)

1 1

AddAdd ››

3 PFKL2037162SCREW,BUT/HD,M6X1.0X20,SLV£ 2.70

(€ 2.92)

4 4

AddAdd ››

3 PFKL2037162SCREW,BUT/HD,M6X1.0X20,SLV£ 2.70

(€ 2.92)

4 4

AddAdd ››

4 PFKL1206689RADIATOR COVER.LOWER £ 50.35

(€ 54.38)

1 1

AddAdd ››

4 PFKL2303700RAD
COVER,LOWER,PAINTED
BLACK

£ 50.35

(€ 54.38)

1 1

AddAdd ››

RS
Texte surligné 

RS
Texte surligné 

RS
Texte surligné 



4 PFKL1206694SPARES KIT.RAD
COVER.LWR

£ 55.12

(€ 59.53)

1 1

AddAdd ››

5 PFKL2371189SCREW,BUT/HD,SKT,M6X1.0X12,S/S£ 3.38

(€ 3.65)

7 7

AddAdd ››

6 PFKL1206236CAP.RADIATOR.CHROME £ 19.50

(€ 21.06)

1 1

AddAdd ››

7 PFKL1214763SCREW,TRITAP,M3X0.5X3,SLV£ 5.18

(€ 5.59)

1 1

AddAdd ››

8 PFKL1214749SCREW,BUT/HD,SKT,M5X0.8X8,SLV£ 3.08

(€ 3.33)

6 6

AddAdd ››

9 PFKL1206688RADIATOR COVER.UPPER £ 50.35

(€ 54.38)

1 1

AddAdd ››

9 PFKL2303699RAD
COVER,UPPER,PAINTED
BLACK

£ 50.35

(€ 54.38)

1 1

AddAdd ››

10PFKL2059881GRILLE ASSY, RAD, FRONT,
BLK

£ 86.10

(€ 92.99)

1 1

AddAdd ››

10PFKL2134889GRILLE
,RAD,FRONT,CHROME

£ 81.90

(€ 88.45)

1 1

AddAdd ››

11PFKL2059879GRILLE ASSY, RAD, LH
REAR, BLK

£ 97.65

(€ 105.46)

1 1

AddAdd ››

11PFKL2151813GRILLE ASSY,RAD,LH
REAR,CHROME

£ 98.70

(€ 106.60)

1

RS
Texte surligné 


